Day 4:53 Optimization Problems Involving
EXponential Functions

Example 1
Find the absolyte maximum and minimum of the function f(x) = (x + 3)e B, é_ E,q/3j_
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Example 2.

i time and is
A new motorcycle is purchased for $10000. The value of the motorcycle depreciates over time
modeled by V(1) = 10000e/4 where V is the value of the motorcycle aftsr t lye;clr;t t=0)
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a) At what rate is the valuye deprec1at1ng the instant it is driven o
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b) At what rate the motorcycle is depreciating at the time it is One quarter of initial value? .
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Example 3:

Suppose that the monthly revenue in thousands of dollars, for the sale of x hundred umts of an
PIECIrOe fjomn i given by the function R(x) = 40x2e04x + 30, where the maximum capacity of the plant
15 800 units. Determine the number of units to produce in order to maximize revenue.
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